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Question

Thie current selected programiming {anguage is Python3.T. We %

Emphasiie thie submizzion of a fully warking s duer 2 mun

pardally correct but efficient code. Cnce submitted, you g

cannot review this problern again: You can-use orint oo debug a4 man

wyour code. The p.r'l'n_r iy not workin case of syniawruntme E def workingwWeeks(projci:

error, The version of Python3.T being used iz 3.7.3. c # urite your code here

Anemployeseinan organization haz begunworking on i ; return

projects (nurmibered & to N-1). Each week hefzhe can wark on 5

azingle module of one of the projecs. The modules that are ‘19 def main():

{P.'ujﬁn an ar.q.r.L'.m smc-eashre wesks chould come frans 11 sinput for proic

different prujecm.,f’;wn.jﬂ:: i can have at !‘I’JDEE C.I r'-'ID:d-'LIJE. 12 oreic = ]

The mezdules of the projects are such that a module is ! Ty . B B

comipleted In awesk kB FN:.’:?C_'S 11? = 1nt?1ml:l't{ ) N
14 projc = list{map(int,input{).split()))

Write an algonthm (o determine the nuwmbsr of weeks the 15

employes can work on projects following the above- 18

e I 17 result = workingWeeks{proic)
18 printiresult)

Input . 1o

The firstline of the inpus conziss of an integer - oum, 8 Cif-o.pame-- =" -mBin_ i

representing the number of projects {M). 21 lainlﬂ]

The nest line consisis of N space-separated intéptrs. - orofCh
orgfl,.. prafCN- T representing the number of modules of
ihe projects.

Output
Frimt am in-in_ager representing themagimum nurmber of weeks
the emplayes can work an the projecs,

Constraints

1% numrs 5707

1% projcr< 107

Fproia 108 .
020+ num

Example
Inpuc

3

723

Dutpa
11

Explanarticn:

Thie first, second and third projects have 7, 2 and 3 miodules
respectivedy.

The modules of different projects are selected on suCcessive
wesks in 8 seguence: first second, first, third, first: second.
first, third, first. third. first

5o the maximurh number of weeks an emiplayes'can work on
these projects is 11,




The current sslected pragramiming lansuags i Python3. T We
emphasize the submiszsion ofa fully working code over
partially correct but efficlant code. Cnce submitted, you
ot review this probtarn again Youw can use prntto gebug
your code. The prmt may not work in e of syn@Ednuname
error. The version of Pythand 7 baeing used = 3,73,

A rmouse = pisced In 8 maze. There |5 5 hugs chunk of cheeze
somewhere in the msze. The maze = represented as an M g M
grid of integers where 0 repraseniz'a wall, 1 repressns the
path whiers the mouse csn move and 3 represents the chounk
of chesse The mouse starts 3t the top left comer 300k
Write an algorithm to cutput 1 i the mouse tan reach the
chunk of cheese, eiss output O,

Input

The firstline.of the inpus consists of two space-separated
'n;'rregem - mare row and mase colrepresenting the number
of rowes [} and the nimber of ocolurnns (W) In the maze,
rEspactivedy.

The next M lines consistof M space-separated integers
represencng the maze

Crutput
Primt 1 i there is 3 path from: the inital posithon of the mouss

to the cheese. else pring 0L

Mote
The mouse.is not affowed to leave the maze or dimi the walls.

Example
InpLc

&8
YOEFYa0F
163011119
180000000
TO0T0901 1
117070017
TOYOoTY0E
16363197
irrrrrid

Explansoon:
The modse can resch the chunk of chesess.
S0, the outplt 1.



